' P

EroN)’

DRAW CLAMPS No.E-752
\Y — O

RO—TJ527

BB E AN RELE

AtE SCM435 | BEAHRC26 | 229
SIERAFMILE | SCM435 | BEAHRC26 | 229

@ —JZE NS5 EANTEELE T,

O NY~DFEN L SHITH-EEHDI S TR

BT,
@ ~ D>
©© BAGS56 % rrrrrrr ‘
y, - | il
I BAX17mm 4m_L
o s jﬂj T EBEHO
B = mm - D EBHSLYFT
BEASEERE 656 S|ERANTIS VS EHBIET
| e RiEES
eV v
Z—5"—No. No. RUFEVEE)  SABENLT N'm - RABAAIKN HEg (i
84171 DRC-1608N M 8%1.25 21.6 13.5 20 5,400
84172 DRC-2412N M12X1.75 49.0 19.6 70 6,000
N=RILAVK 84173 DRC-3016N M16x2 117.6 37.2 145 6,700
ISIIIALT
75YF1=vh F—5—No. No. RUEOE)  BARENLT Nm  BABRAKN HEg fiits
84174 DRC-3408F M 8x1.25 21.6 13.5 35 5,500
84175 DRC-4412F M12X1.75 49.0 19.6 110 6,300
84176 DRC-5616F M16X2 117.6 37.2 220 7,200
WAFTE
R_RCIAF TISI94F |
................... e s
RIVINA R G LN
4-¢H / 5 W
................... . N B
R—JLEE/NA 2 S \ J
®»B
it E -
................... = B “
] o Vo °
< <
loC | oC
RIS
No. A B . C D  E@B F G H [
DRC-1608N 27 ZEM16X2 13.9 21 M 8X%1.25 0-10 4 2.1 11.6
DRC-2412N 37.5 FEM24X3 20.9 27.5 M12X1.75 0-15 6 3.2 17.2
DRC-3016N 47 EM30X35 264 36 M16X2 0-17 8 3.2 22
ISUIGIALF
No. A B % b3 E@® ¢ F G H [
DRC-3408F 27 34 14 12 M 8x1.25  0-10 4 55 22
DRC-4412F 375 44 22 15 M12X%1.75 0-15 6 6.6 30
DRC-5616F 47 56 26 18 M16x2 0-17 8 9 38

http://www.nabeya.co.jp



	F214J_0212

